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Omega Yield

G [ub]

cTJIIII
|—.—|

\||||||IIII 1]

—

»
”|||||||-.L_._a|||||||
="
3]

OO||||
..

PhaseSpace

o(K™p - QX) ~

(fit curve)



Omega YiEId ‘fiﬁ UNIVERSITY
d AV
§ 200005— Q, 85k Ev.
D B
%15000}
= r
3 100001 Q(2470), 10k Ev.
5000;
N T T

P, [GeV/c]

O'(K_p o .QX) - PhaseSpace

(fit curve)



UNIVERSITY

P York

‘iQ‘

Conclusion

= Omega at KLF is measurable
— decent statistics

= Require further simulations (acceptance/efficiency)

= 22 GeV JLab might be advantageous
— Can run with 32ns or even 16ns bunch spacing
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